Nombres Décimaux (B)

Trouvez chaque somme ou différence.

626 + 10,2 = 904 - 17,9 =
40,8 - 8,87 = 0,174 + 378 =
321 - 0,466 = 0,914 - 0,51 =
0,347 - 0,137 = 422 -0,303 =
8,51 +15= 0,424 + 22,4 =
47,4 -9,78 = 287 +29,9 =
0,994 + 864 = 5,64+ 103 =
41,4 - 0,894 = 176 + 0,751 =
6,04 - 0,741 = 680 + 3,86 =
156 - 99,2 = 731+7,5=
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Nombres Décimaux (B) Solutions

Trouvez chaque somme ou différence.

626 + 10,2 = 636,2 904 - 17,9 = 886, 1
40,8 - 8,87 = 31,93 0,174 + 378 = 378,174
321 - 0,466 = 320,534 0,914 - 0,51 = 0,404
0,347 - 0,137 =0,21 422 -0,303=3,917
8,51 +15=123,51 0,424 + 22,4 = 22,824
47,4 - 9,78 = 37,62 287 +29,9=316,9
0,994 + 864 = 864,994 5,64+ 103 = 108,64
41,4 - 0,894 = 40,506 176 + 0,751 = 176,751
6,04 - 0,741 = 5,299 680 + 3,86 = 683,86
156 - 99,2 = 56,8 7,31 +7,5=14,81
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